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Abstract: This descriptive-survey research 
was conducted to examine the students' 
satisfaction from the educational, research, 
welfare and administrative services provided 
by Technical and Vocational Colleges in 
Markazi Province. The statistical population 
included 3673 students of Technical and 
Vocational Colleges in Markazi Province, 
among whom 915 students were randomly 
(stratified sampling) selected as research 
sample using Morgan Table. The standard 
questionnaire was used to collect the required 
information. In this research, the content 
validity was used to determine the validity of 
the questionnaire and the Cronbach's Alpha 
method was used to determine its reliability 
(0.956). Next, the SPSS Software and One 
Sample T-test were used in order to analyze 
the data. The findings showed that, given this 
fact that the significance level for educational, 
research and welfare services was less than 
0.05, the mean level of each of these services 
was significantly different from 3. 
Accordingly, the mean level of educational 
services was higher than the average level. 
Besides, the mean level of research and 
welfare services was lower than the average 
level. In the case of administrative services, it 
was found that the mean level of 
administrative services was not significantly 
different from 3. 
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1- �.�- ��C� 
�U5�-
 �����	 6���7 �- 0���85�-
 .��/� 0-12� 

2- �.�- ��C� 
�U5�-
 �5��*+ 6���7 �- 0���85�-
 .��/� 0-12� 

3-  .��/� 0-12��.�- ��C� 
�U5�-
 ���4� 6���7 �- 0���85�-
  
4- �.�- ��C� 
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 � �;4 
��5�-
�43:9- ,2�7  252  150  

  
9-3� 
3F9��	  �2PJ? � ��2� 
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